
P.T.O.

M/P ENT - 07
Seat
No.

Total No. of Pages : 12

M.Phil/Ph.D. Entrance Examination, September - 2022
EDUCATION (For M.Ed. Students Only)

Sub. Code : 58745

Day and Date : Saturday, 24-09-2022 Total Marks : 100
Time : 4.00 p.m. to 6.00 p.m.

Instructions : 1) All questions are compulsory.
2) Each question carries 2 marks.
3) Answers should be marked in the given OMR answer sheet by

darkening the appropriate option.
4) Use black ball point pen only for making the circle. Do not make any

stray mark on the OMR Answer Sheet.
5) Follow the instructions given on OMR Sheet.
6) Rough work shall be done on the sheet provided at the end of question

paper.
7) Only non -programmable calculators are allowed.

Fill in the blank by selecting appropriate alternative given below:
¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am.

1) The _______ research aims at finding a solution for an immediate problem
facing a society or an industrial organization.
A) Basic B) Action
C) Applied D) Evaluation
............. g§emoYZmMm CÔoe g‘mO qH$dm Am¡X²¶mo{JH$ g§ñWobm ôS>gmdUmè¶m VmËH$mi g‘ñ¶oda Cnm¶
emoYUo hm Amho.
A) ‘wb ŷV B) H¥$Vr
C) Cn¶mo{OV D) ‘yë¶‘mnZ

2) In research process the first and the foremost step happens to be that of
selecting a research ________.
A) Review B) Problem
C) Hypothesis D) Sampling
g§emoYZ à[H«$¶oV n{hbr Am{U gdm©V ‘hÎdmMr nm¶ar åhUOo g§emoYZ ........... {ZdS>Uo.
A) nwZamdbmoH$Z B) g‘ñ¶m
C) n[aH$ënZm D) Z‘wZm
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3) In order to pursue the research ______ is required in priority.
A) Developing research design
B) Formulating research question
C) Deciding about the data analysis procedure
D) Formulating research hypothesis
g§emoYZmMm nmR>nwamdm H$aÊ¶mgmR>r ........... ho àmYmÝ¶mZo Amdí¶H$ Amho.
A) g§emoYZ AmamIS>m {dH${gV H$aUo B) g§emoYZ àíZ V¶ma H$aUo
C) ‘m{hVr {díbofU à{H«$¶o~Ôb {ZU©¶ KoUo D) g§emoYZ n[aH$ënZm V¶ma H$aUo

4) The statement _______ is true in the context of the testing of hypotheses.
A) It is only alternative hypotheses that can be tested.
B) It is the only null hypotheses that can be tested.
C) Both the alternative and the null hypotheses can be tested.
D) Both the alternative and null hypotheses cannot be tested.
n[aH$ënZm MmMUrÀ¶m g§X^m©V ............. {dYmZ gË¶ Amho.
A) Ho$di n¶m©¶r n[aH$ënZm Vnmgbo OmD$ eH$Vo.
B) ho EH$‘od eyÝ¶ n[aH$ënZm Amho Á¶mMr MmMUr Ho$br OmD$ eH$Vo.
C) n¶m©¶r Am{U eyÝ¶ n[aH$ënZm XmoÝhr Vnmgë¶m OmD$ eH$VmV.
D) n¶m©¶r Am{U eyÝ¶ n[aH$ënZm MmMUr Vnmgbr OmD$ eH$V Zmhr.

5) A picture of way of life of some identifiable group of people means _______
study.
A) Ethnography B) Case study
C) Cultural study D) Naturalistic theory
{ZdS>boë¶m JQ>mVrb bmoH$m§Mr OJÊ¶mMr e¡brMo {MÌU åhUOo ............ Aä¶mg hmo¶.
A) ‘mZdOmVr¶ B) OrdZd¥Vm§V
C) gm§ñH¥${VH$ Aä¶mg D) àH¥$VrdmXr CnmJ‘

6) A research problem is feasible only when ________.
A) It has utility and relevance .
B) It is new and adds something to the knowledge.
C) It is researchable.
D) All of the above.
g§emoYZ g‘ñ¶m VoìhmM e³¶ Amho Ooìhm .............
A) Ë¶mMr Cn¶wº$Vm Am{U àmg§{JH$Vm Amho.
B) ho ZdrZ Amho Am{U kmZmV H$mhrVar ^a KmbVo.
C) Vo g§emoYZ H$aÊ¶m¶mo½¶ Amho.
D) darb gd©.

7) Inductive thinking involves _______.
A) From general to specific B) From specific to general
C) From general to general D) From specific to specific
CX²Jm‘r {dMma àH«$s¶o‘Ü¶o ............ Mm g‘mdoe hmoVmo.
A) gm‘mÝ¶mH$Sy>Z {deofmH$S>o B) {deofmH$Sy>Z gm‘mÝ¶mH$S>o
C) gm‘mÝ¶mH$Sy>Z gm‘mÝ¶mH$S>o D) {deofmH$Sy>Z {deofmH$S>o
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8) The primary source of historical data is ________.
A) Documents B) History textbooks
C) Encyclopedias D) Writer
Eo{Vhm[gH$ ‘m{hVrMm àmW{‘H$ òmoV ............ Amho.
A) H$mJXnÌo B) B{VhmgmMr nmR²>¶nwñVHo$
C) {dídH$moe D) boIH$

9) A hypothesis is ________.
A) Tentative statement whose validity is still to be tested
B) Supposition which is based on the post experiences
C) Statement of fact
D) All of the above
n[aH$ënZm hr ............. Amho.
A) VmËnwaVo {dYmZ Á¶mMr d¡YVm MmMUr H$aUo ~mH$s Amho
B) n[aH$ënZm hr à¶moJ níMmV AZŵ dm§da AmYm[aV Amho
C) dñVwpñWVrMo {dYmZ
D) darb gd©

10) The method of Randomization involves _________.
A) Lottery B) Coin method
C) Tippit's table of random digits D) All of the above
¶mÑpÀN>H$sH$aUmÀ¶m nÕVr‘Ü¶o ............. g‘m{dï> Amho.
A) bm°Q>ar B) ZmUo nÕV
C) ¶mÑpÀN>H$ A§H$m§Mr {Q>{nQ>Mr gmaUr D) darb gd©

11) The _______ is a non-probability sampling method.
A) simple random sampling B) systematic sampling
C) quota sampling D) cluster sampling
.............. EH$ A.g§̂ mì¶Vm Z‘wZm nÕV Amho.
A) gmYo gmÑ{ÀN>H$ Z‘wZm B) nÕVera Z‘wZm
C) H$moQ>m Z‘wZm D) ³bñQ>a Z‘wZm

12) Action research is type of ________ research.
A) Applied B) Quality
C) Working D) Survey
H¥$Vr g§emoYZ hm g§emoYZmMm .............. àH$ma Amho.
A) Cn¶mo{OV B) JwUdÎmm
C) H$m¶©aV D) gd}jU
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13) The mixed method research often gives equal priority to _______.
A) Qualitative data
B) Quantitative data
C) Both qualitative and quantitative data
D) None of the above
{‘l nÕVrMo g§emoYZ AZoH$Xm ............ g‘mZ àmYmÝ¶ XoVo.
A) JwUmË‘H$ ‘m{hVr B) g§»¶mË‘H$ ‘m{hVr
C) JwUmË‘H$ Am{U g§»¶mË‘H$ XmoÝhr ‘m{hVr D) darb n¡H$s H$mhr Zmhr

14) Chi-square test as a Non-parametric is based on _________.
A) Mean B) Standard Deviation
C) Percentile D) Frequencies
H$m¶-ñ¹o$Aa MmMUr Oa An[a{‘Vr¶ Agob Va Vr ............ da AmYmabobr AgVo.
A) ‘Ü¶‘mZ B) à‘mU {dMbZ
C) eVV‘H$ D) dma§dm[aVm

15) If significant of differences among the more than two sample means at the
same time is to be measured then _______ technique is used.
A) ANOVA B) Z test
C) T test D) Sign test
XmoZ nojm A{YH$ Z‘wÝ¶mÀ¶m ‘Ü¶‘mZmVrb gmW© ’$aH$m§Mo EH$mM doir ‘mnZ H$amd¶mMo Agë¶mg ...........
V§Ì dmnaVmV.
A) ANOVA B) Z test
C) T test D) Sign test

16) If number of Columns are 3 and Rows are 2 then Degrees of freedom in case
Chi-square test will be ________.
A) 6 B) 3
C) 1 D) 2
Oa 3 ñV§̂  AgVrb d 2 am§Jm AgVrb Va H$m¶-ñ¹o$Aa MmMUrZwgma ‘mnZ Ho$bo AgVm ñdmYrZVm ‘mÌm
.......... Agob.
A) 6 B) 3
C) 1 D) 2

17) Measure of Central tendency is affected by Extreme scores in series _______.
A) Mean B) Median
C) Mode D) Range
......... ho H|$Ðr¶ àd¥ÎmrMo ‘mnZm‘Ü¶o loUrVrb AË¶§V Q>moH$mH$S>rb àmám§H$mMm n[aUm‘ hmoVmo.
A) ‘Ü¶‘mZ B) ‘Ü¶H$
C) ~hþbH$ D) {dñVma
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18) In the formula of Regression the basic relationship between X and Y is given
by ______ formula.
A) Y = a + bX B) X = a + bY
C) Y = b + aX D) X = b + aY
[aJ«oeZ gyÌm‘Ü¶o X Am{U Y ¶m§À¶m‘Yrb g§~§Y ............. gyÌmZo Xe©{dVmV.
A) Y = a + bX B) X = a + bY
C) Y = b + aX D) X = b + aY

19) Which of the following is a measure of Central tendency?
A) Percentile B) Quartile
C) Standard Deviation D) Mode
Imbrbn¡H$s H$moUVo H|$Ðr¶ àd¥ÎmrMo ‘mnZ Amho?
A) Q> o̧$dmar B) MVwWmªe
C) à‘mU {dMbZ D) ~hþbH$

20) What is the Median of the following series of numbers
15, 22, 16, 14, 13, 20
A) 14 B) 15
C) 15.5 D) 13
Imbrb {Xboë¶m àmám§H$m§Mo ‘Ü¶Jm {H$Vr?
15, 22, 16, 14, 13, 20
A) 14 B) 15
C) 15.5 D) 13

21) Median is _________ percentile.
A) 25th B) 50th

C) 75th D) 15th

‘Ü¶m§H$ ............ eVV‘H$ AgVmo.
A) 25th B) 50th

C) 75th D) 15th

22) If Ramesh has 80 score out of hundred in maths and Suresh has 30 score
which is last one in class percentile rank of Suresh will be ________.
A) 0 B) 35
C) 30 D) 20
a‘oebm J{UVm‘Ü¶o e§̂ a n¡H$s 80 JwU {‘imgo Va gwaoebm 30 JwU {‘imbo d Vmo dJm©V eodQ>r Amho Va
gwaoeMm eVV‘H$ H«$‘ ............ ¶oB©b.
A) 0 B) 35
C) 30 D) 20
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23) Graphical representation is way of analysing _______ data.
A) Qualitative data B) Quantitative data
C) Both (A) and (B) D) None of the (A) and (B)
AmboImX²dmao gmXarH$aUmgmR>r ............. ‘m{hVrMo n¥W¸$aU Ho$bo OmVo.
A) JwUmË‘H$ B) g§»¶mË‘H$
C) (A) d (B) XmoÝhr D) (A) d (B) XmoÝhr Zmhr

24) In a graphical representation of the data vertical axis is denoted by the letter
______ in the graph.
A) X B) Y
C) XY D) O
‘m{hVrdê$Z AmboImMo gmXarH$aU H$aVmZm AmboImdarb C^r aofm ............. ¶m AjamZo Xe©dbr OmVo.
A) X B) Y
C) XY D) O

25) In hundred times experiments if 95 experiments are correct the level of
significance measured will be ___________.
A) 0.01 B) 0.05
C) 0.5 D) 0.95
e§̂ a doim Ho$boë¶m à¶moJm‘Ü¶o Oa 95 doim à¶moJ ~amo~a Agob Va Ë¶mgmR>r ............. gmW©H$Vm ñVa
‘mnZ Ho$bm OmVmo.
A) 0.01 B) 0.05
C) 0.5 D) 0.95

26) Humanist, experimental and biological are the forms of __________.
A) Idealism B) Naturalism
C) Pragmatism D) Existentialism
‘mZdVmdmXr, àm¶mo{JH$ Am{U O¡{dH$ ho .............. Mo ñdê$n AmhoV.
A) AmXe©dmX B) {ZgJ©dmX
C) ì¶mdhm[aH$dmX D) ApñVËddmX

27) In Upnisads, _________ deals with clarification of higher and lower knowledge.
A) Chandougya Upanishad B) Brihadaryanka Upanishad
C) Mundaaka Upanishad D) None of these
Cn{ZfXm§‘Ü¶o, .............. Cƒ Am{U {ZåZ kmZmÀ¶m ñnï>rH$aUmer g§~§{YV Amho.
A) Mm§Xm¡½¶ Cn{ZfX B) ~¥hX¶ªH$ Cn{ZfX
C) ‘w§S>H$ Cn{ZfX D) ¶mn¡H$s H$mhr Zmhr
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28) According to Buddhist philosophy of life to get Nirvana the one of the principle
Samayak Drishti means __________.
A) Right faith B) Right resolve
C) Right speech D) Right saving
~m¡Õ OrdZmÀ¶m VÎdkmZmZwgma {Zdm©U {‘idUo ho VÎd gå¶H$ Ñï>r åhUOo ...............
A) ¶mo½¶ {dídmg B) ¶mo½¶ g§H$ën
C) ¶mo½¶ ̂ mfU D) ¶mo½¶ ~MV

29) The education was free from communal narrowness, no favouritism on the
basis of caste and creed is the salient feature of ____________.
A) Vedic Education System B) Buddhist Education System
C) Islamic Education System D) None of the above
{ejU ho OmVr¶ g§Hw${MVVonmgyZ ‘wº$ dm Om{VY‘m©À¶m AmYmamda njnmV Z H$aUmao ho à‘wI d¡{eï>
............. Mo Amho.
A) d¡{XH$ {ejU àUmbr B) ~m¡Õ {ejU àUmbr
C) Bñbm{‘H$ {ejU àUmbr D) darbn¡H$s H$mhrhr Zmhr

30) According to Vedas knowledge can be acquired through _______ methods.
A) Pratyaksha (Intuition) B) Anumana (Inference)
C) Avabodh (Perception) D) Both (A) and (B)
doXm§Zwgma kmZ nÕVtZr {‘idVm ¶oVo ............
A) àË¶j B) AZw‘mZ
C) Ad~moY D) (A) Am{U (B) XmoÝhr

31) Which of the following is not included in the learning environment?
A) Physical environment B) Instructional time
C) Discipline D) Food
AÜ¶¶Z dmVmdaUm‘Ü¶o Imbrbn¡H$s H$emMm g‘mdoe hmoV Zmhr?
A) ^m¡{VH$ dmVmdaU B) AZwXoeZ doi
C) {eñV D) AÞ

32) Which of the following is not important for the development of child?
A) Physical and Moral of the child
B) Social and Economical status of the family
C) Education and social status of parents
D) Social, Economical and Intellectual environment of the child
Imbrbn¡H$s ~mbH$mÀ¶m {dH$mgm‘Ü¶o H$moUVm KQ>H$ ‘hËdmMm AgVmo?
A) ~mbH$mMo ^m¡{VH$ d Z¡{VH$ dmVmdaU
B) Hw$Qw>§~mMr gm‘m{OH$ d Am{W©H$ pñWVr
C) AmB© d{S>bm§Mo {ejU d gm‘m{OH$ ñVa
D) ~mbH$mMo gm‘m{OH$, Am{W©H$ Am{U ~m¡{ÕH$ dmVmdaU
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33) A student was solving mathematical problem and got puzzled after devoting
some time in thinking about the solution he suddenly got a clue and solved the
problem. It is learning through ___________.
A) Operant conditioning B) Classical conditioning
C) Insight D) Hierarchical approach
EH$m {dX²¶mÏ¶m©bm J{UV gmoS>dVmZm g‘ñ¶m Ambr nU H$mhr doimZ§Va AMmZH$ ³ë¶y {‘imbm d J{UV
gwQ>Vo ¶m àH$maÀ¶m AÜ¶¶Zmg ............... åhUVmV.
A) gmYH$ A{^g§YmZ B) A{^OmV A{^g§YmZ
C) ‘‘©Ñï>r D) loUr~Õ CnmJ‘

34) Howard Gardner did not mention ______ this type of intelligence.
A) Linguistic intelligence B) Abstract thinking intelligence
C) Musical intelligence D) Naturalistic intelligence
hmdS>© JmS>©Za ¶m§Zr Imbrbn¡H$s ............. hm ~wÕr‘ÎmoMm àH$ma gm§{JVbm Zmhr.
A) ^m{fH$ ~w{Õ‘Îmm B) A‘yV© qMVZna ~w{Õ‘Îmm
C) g§JrV{df¶H$ ~w{Õ‘Îmm D) {ZgJ©{df¶H$ ~w{Õ‘Îmm

35) _____________ is not an approach for learning.
A) Knowledge centeredness B) Learner centeredness
C) Environment centeredness D) Teaching centeredness
................. hm AÜ¶¶Z CnmJ‘ Zmhr.
A) kmZ H|${ÐV B) AÜ¶¶ZmWu H|${ÐV
C) dmVmdaU H|${ÐV D) AÜ¶mnZ H|${ÐV

36) Which of the following said - "Education is the preparation of the present and
future?"
A) Kothari Commission
B) Ramamurti Commission
C) National Policy on Education, 1986
D) Secondary Education Commission
""dV©‘mZ Am{U ^{dî¶mMr V¶mar åhUOo {ejU hmo¶'' Ago Imbrbn¡H$s H$moUr åhQ>bo?
A) H$moR>mar Am¶moJ B) am‘‘yVu Am¶moJ
C) amḯ>r¶ e¡j{UH$ YmoaU, 1986 D) ‘mÜ¶{‘H$ {ejU Am¶moJ

37) Scope of Teacher education is/are -
A) Improvement in teaching of student-teachers
B) Training of the teacher
C) Orientation of the in-service teachers
D) All of the above
{ejH$ {ejUmMr ì¶már ............ Amho.
A) {dX²¶mWu-{ejH$m§À¶m AÜ¶mnZmV gwYmaUm B) {ejH$m§Mo à{ejU
C) godm§VJ©V {ejH$m§Mo CX²~moYZ D) darb gd©
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38) _________ is not a predetermined criterion of teacher evaluation.
A) Experience of teacher B) Training of teacher
C) Teaching style of teacher D) Personal attributes of teacher
................. hm {ejH$ ‘yë¶‘mnZmMm nyd©{ZYm©[aV {ZH$f Zmhr.
A) {ejH$mMm AZŵ d B) {ejH$mMo à{ejU
C) {ejH$mMr AÜ¶mnZ e¡br D) {ejH$mÀ¶m d¡¶{º$H$ JwUY‘©

39) What is the main function of S.C.E.R.T.?
A) Designing the course of four years integrated teacher education program
B) Preparation of a code of professional ethics for teachers
C) Accreditation of teacher education institutions
D) Development of curriculum, textbooks, training, research and innovation
Eg. gr. B©. Ama. Q>r. Mo à‘wI H$m¶© H$moUVo Amho?
A) Mma dfu¶ EH$mpË‘H$ {ejH$ {ejU Aä¶mgH«$‘mÀ¶m AmamIS>m V¶ma H$aUo
B) {ejH$m§gmR>r ì¶mdgm{¶H$ AmMma g§{hVm V¶ma H$aUo
C) {ejH$ {ejU g§ñWmZm ‘mÝ¶Vm XoUo
D) Aä¶mgH«$‘, nmR²>¶nwñVH$, à{ejU, g§emoYZ Am{U ZdrZ CnH«$‘ {dH${gV H$aUo

40) Which of the following statement expresses the meaning of professionalism
in education?
A) To be responsive to the students
B) Participation in training program
C) Work for salary
D) Adherence to the code of professional conduct
Imbrbn¡H$s H$moUVo {dYmZ {ejUm‘Ü¶o ì¶mdgm{¶H$VoMm AW© ì¶º$ H$aVo?
A) {dX²¶mÏ¶mªer O~m~Xma amhUo B) à{ejU H$m¶©H«$‘m‘Ü¶o gh^mJ
C) doVZmgmR>r H$m‘ D) ì¶mdgm{¶H$ AmMmag§{hVoMo nmbZ

41) Long form of CIET ________.
A) Council of Information Educational Technology
B) Central Institute of Educational Technology
C) Centre of Information Educational Technology
D) None of Above
CIET Mm {dñV¥V AW© H$m¶?
A) H$m¡pÝgb Am°’$ BÝ’$m°‘}eZ EÁ¶wHo$eZb Q>o³Zm°bm°Or
B) g|Q́>b B{ÝñQ>Q²>¶yQ> Am°’$ EÁ¶wHo$eZb Q>o³Zm°bm°Or
C) g|Q>a Am°’$ BÝ’$m°‘}eZ EÁ¶wHo$eZb Q>o³Zm°bm°Or
D) darbn¡H$s Zmhr
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42) Satellite Instructional Television Experiment in India (SITE) was launched in
_______.
A) 1975 B) 1976
C) 1995 D) 1996
g°Q>obmB©Q> BÝñQ́>³eZb Q>o{bpìhOZ E³g{n[a‘|Q> ̂ maVmV (SITE) ............. gmbr gwê$ H$aÊ¶mV Ambm.
A) 1975 B) 1976
C) 1995 D) 1996

43) The word technology is derived from the original ________ language.
A) French B) German
C) Russian D) Greek
V§Ì{dkmZ hm eãX ‘yi .............. ^mfoVyZ KoÊ¶mV Ambm Amho.
A) ’«|$M B) O‘©Z
C) a{e¶Z D) J«rH$

44) _______ stated 'Educational technology is the systematic application of
scientific knowledge about learning and conditions of learning to improve the
effectiveness and efficiency of teaching and training.
A) I.K. Davis B) S. Ravishankar
C) G.O.Leith D) D. Galbraith
"e¡j{UH$ V§Ì{dkmZ åhUOo AÜ¶mnZ Am{U à{ejUm‘Ü¶o gwYmaUm H$aÊ¶mgmR>r n[aUm‘H$maH$Vm Am{U
H$m¶©j‘Vm dmT>{dUogmR>r AÜ¶¶Z Am{U AÜ¶¶Z n[a{ñWVrV emór¶ kmZmMm nÕVera dmna H$aUo hmo¶.'
hr j{UH$ V§Ì{dkmZmMr ì¶m»¶m ............ ¶m§Zr Ho$br Amho.
A) Am¶.Ho$. S>opìhg B) Eg. a{de§H$a
C) Or.Amo. boW D) S>r. Jmb~«oW

45) ________ is not a component of instructional system design.
A) Student B) Aims & objectives
C) Syllabus D) Tests & Evaluation
............... hm AZwXoeZ àUmbrMm KQ>H$ Zmhr.
A) {dX²¶mWu B) Ü¶o¶o d C{Ôï>o
C) nmR²>¶H«$‘ D) MmMÊ¶m d ‘yë¶‘mnZ

46) The ______, views display the document, as it will look when it is printed.
A) Web layout view B) Normal view
C) Outline view D) Print layout view
XñVEodO ‘w{ÐV Ho$ë¶mda Ogm {Xgob Vgo Ñí¶ ............. ‘Ü¶o {XgVo.
A) do~ boAmCQ> Ñí¶ B) gm‘mÝ¶ Ñí¶
C) ~møaoIm Ñí¶ D) qàQ> boAmCQ> Ñí¶
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47) A _______ provides graphical routines which allow data to be plotted in a
variety of format.
A) Microsoft Word B) Microsoft Publisher
C) Microsoft Spreadsheet D) Microsoft Paint
Oo .............. J«m{’$H$b éQ>rZ àXmZ H$aVo Vo ‘m{hVrMo {d{dY ñdê$nmV AmaoIZ H$aÊ¶mg AZw‘Vr XoVo.
A) ‘m¶H«$mogm°âQ> dS>© B) ‘m¶H«$mogm°âQ> npãbea
C) ‘m¶H«$mogm°âQ> ñàoS>erQ> D) ‘m¶H«$mogm°âQ> n|Q>

48) A highlighted border with outlined indicates the selected cell is _______.
A) Tool bar B) Workbook
C) Active cell D) Formula
~møaoIm Agbobr hm¶bmBQ> Ho$bobr gr‘m {ZdS>bobm gob .............. gy{MV H$aVmo.
A) Qy>b~ma B) dH©$~wH$
C) A°p³Q>d gob D) ’$m°å¶w©bm

49) The ________ format is intended for transmitting images on computer net.
A) Wireless Application Protocol (WAP)
B) Windows Metalife Format (WMF)
C) Graphics Interchange Format (GIF)
D) Portable Network Graphics (PNG)
............... ’$m°a‘°Q>Mm hoVy g§JUH$ ZoQ>da à{V‘m àgm[aV H$aÊ¶mgmR>r Amho.
A) dm¶abog E°pßbHo$eZ àmoQ>moH$m°b (WAP) B) qdS>moO ‘oQ>mbmB’$ ’$m°a‘°Q> (WMF)
C) J«m{’$³g B§Q>aM|O ’$m°a‘°Q> (GIF) D) nmoQ>}~b ZoQ>dH©$ J«m{’$³g (PNG)

50) We can connect and work on internet by using _______.
A) TAN B) LAN
C) WAN D) MAN
AmnU ................ dmnê$Z B§Q>aZoQ> H$Zo³Q> H$ê$Z H$m‘ H$ê$ eH$Vmo.
A) TAN B) LAN
C) WAN D) MAN


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